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Section 4.2

Factor Theorem: Ifx = ¢ is a zero of a polynomial f{x), then x - ¢ is a factor.
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The Fundamental Theorem of Algebra

Sol: + QLC -an’—m of x—C

If f(x) is a polynomial of degree n, where n > 0, then f has at least one zero
in the complex number system.
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Linear Factorization Theorem

If f(x) is a polynomial of degree n, where n > 0, then f(x) has precisely n
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where ¢, ¢5, . . ., ¢, are complex numbers.
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Polynomial theory from College Algebra Writing Project:

https://harryzaims.com/121-online/121-online-spring-21/writing-projects/Writing-
_Project-3-spring-21.pdf

Its Solutions:

https://harryzaims.com/121-online/121-online-spring-21/writing-projects/Writing-
_Project-3-spring-21-solns. pdf
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Conjugate Pairs Theorem: If all the coefficients of a polynomial are real, and
x =a + biis aroot (zero) of f , then sois a - bi
16. + 0/1 points
Use the given zero to find all the zeros of the function.
in your answer.)
Function Zero Or'vp cLe 67
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